
1) (-40) + (-73)

Answer: ____________

2) 58 + (-90)

Answer: ____________

3) 50 + (-26)

Answer: ____________

4) (-99) + 74

Answer: ____________

5) (-22) + (-13)

Answer: ____________

6) (-65) + 67

Answer: ____________

7) 86 + (-92)

Answer: ____________

8) 84 + (-71)

Answer: ____________

9) (-25) + 9

Answer: ____________

10) (-8) + (-77)

Answer: ____________

Total: ___ / 10

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

October 26, 2020

Sr: 26102020-1770

 

http://www.geekschool.co.uk


Answers:

1) -113 2) -32 3) 24 4) -25 5) -35 6) 2 7) -6

8) 13 9) -16 10) -85

Copyright 2020 - Geek School Tutoring Limited http://www.geekschool.co.uk

Name: _____________________________

October 26, 2020

Sr: 26102020-1770

 

http://www.geekschool.co.uk

